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Partl
< Apswer all the questions.
<  Underiine the most sultable unswer.
<  Aferanswering, tle paper and answers for partII together and submit
(01) Thss isa group afmicra organism with pholosynthelic ability due to containing the pigment chlorophyl.
{1) fungi (2) algae (3) virus (4} heteratrophic bacleria
(62) This group of organism is considered a5 the {irst vertebrates thaf entered into the lerrestrial enviromnent.
{1} fish (2) maminals {3) amphibians {4) reptiles
(03}  Which afthe following is the hardest mineral actonding to the mohr’sscale ?
{1} Tale . ) dismond {3) corundum {4) mpatete
{043 Thetimberofthis plant iz used for the thsks done under water due to its resistivity for water
{1 jak i2) “lunumidella™ {2 “‘waltapaira” 41 “hora”
{05}  Whichofthe following answer shows how the image (s observed
when an objectlike inthe diagram is placed in frontoFa plane mirror? H
w j_J @) i i3 | 4l ﬂ
(06) A gaswhich is burnt 1o obtain heat needed for welding metalsis,
{1} aceryline {2)medhans {1} ethans (4) oxygen
(07) The perpendicular force appliad on a surface is 125M Which of the following is lhe surface aren if the
pressure act on the surface is S0 Pa?
{1 2.5m 2y 2’ (3) 25m’ (4y 1.5m’
(08) This diagram shows the mass pumber and alomic number of the chlorine alom in the standard way. The
number of tewlrons in the chlorine 2o is, 35
(35 (24 17 3y 15 (4) 18 = Cl
(9}  This isa growth subslance produced in the tip of the shoots and roots i7
{1} auxin (2) gibbereilinss {3} cytokinins {4) abscisic acid
{10} Salectthe answerwiich shows the symbols of the elements sodium, polassicm and carbon in sequence.

(11§ K,C (2) Ma. K o (3 Mo, K.C (5 PC



(11) Theacid prosentin vinegar is,
(1) acetic acid {(2) citricacid (3) ncticacid {4) sulphuric acid

(12) Theamouni of plateles in blood decreases spreedily due to this disense

{1) malaria {2) hydrophobia (3) common ¢old {4) dengue
(13) Several Statements regarding this diagram are shown below.
A~ Ttisaheterc alomic molecule, B -[tisthe structure of methane.
C- Tt is the building nnit of bio gas. The true stalements oul of them ere,
{1} Aand B (2) BandC (3) AendC (4) o)l A, Band C

(14} Twostatements regarding the siruclure of eye are shown below
A- Eyesare located inside the orbits in the skull.
B- Eyes are fixed with eighl eve muscles in the orbits.
Out of these statements,
{1} only Aistrue. {2)only B istrue, (J)both Aand Bare trus (4) BothA end B are false,

(15) Whenwe observe acloserobject,
(1) The focal length of the eye decreases by decreasing the curvalure of the eve,
(2) The focal lengthof the eve incréases by decreasing the curvarure ofthe eye,
(3) The focal length ofthe eve decreases by increesing the eurvature of the Bye,
(4) The focal length of the eye increases by increasin g the curvature of the eye.

{16) Select the answerwhich shows standacd tnirs formeasuring pressure and density respectively,

(1) Nm*, kgm” (2) Nm*, kgm® {3} Nm, gem™ (4) Nm™, kgm"
{17) The technique used to extract oil from cinnamon leaves is.

{1) simple distillation (2} fractional distillation

(3) vaporizalion {4) steamdistillation

(18) Severslstatements regerding the foree are shown bejow.
a - Theslandacd unit of measuring force isNewton,  b- Forge can rotate an ohjsct.
¢ -Forceisascalerquantity.  d-Forcehasa point ofapplication,
Which is the lollowing statement is incorrect?
(M a (2) b (3 ¢ (4) d

(19} There ere 4 blood gronps knowit as A, B, AB and O. Select the answer which shows unjversal donor end
universet recipient respecrively.
{(1)AandB {(Z) ABsnd Q (3) Oand B (4) OandAB

{20} WhenaIighlningstrikesapurs:rnwhuisa!uneinaﬂutnrea. itisa
(1) direct strike {2) contacrvoltage (3) side tlash {4) slep polential

{21) Arzeson forenox is hurt more than a human by & step potential s that,
{!) human has rwo fear and ox has lour feel,
(%) there is a big potential diference between the two feet of human and a tow potentia! difference

between the faet of ox.

(3) There is a low potential difference between the two [eet of human and a big potential difzrence
between the feetofox

(4) There is no potential difference berweon feet of human and therz s & potenlisl difference berween the
feet ofox.
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(22) Atwhich border. dothe two tectonic plales move away from each other while being in contact in an earth

queke?
{1} Slipborder {2) divergentborder (1) convergeatborder {4) ontheearhsurfacs,
(23} The real occurrence taken place in an eco system is that
{1) malerials ame not recycling {2} Energy flows in one direclicn
{3) all plants became trees {4) Thereare limited numberofinteractions.

{24) Thisisadrymixed evergreen forest.
{1) Smharaja (2} Wasgamuwa {3) Horlanplanes (1) Haggala

(25) Conserving an organism in thei, own natural environmeni is in-situ conservation. The set of local plants
that conserve in in-situ conservation are,
{1} jak, satinwood {2} Jek, 'nendun’ (3) Satinwood, milla  (4) Satinword, teak

{26) These diagrams show how three identical objects are immersed in three identical beakers wilh exqual
volume of'three hiquids with ditferent densities.
Which of the following answer shows the densities of liquids in the ascending order 7
(HXeZ Y 2) XY, Z
(3)Z,Y. X .y NOOZ O

&)
_ X Y Z
{27) Selectthe incorrect statement regarding crop cultivation enhanced by bio-technology.

{1) Producing pest resistan! paddy varieties.

{2) Preducing golden rice enriched with vitamin A,
{3) Producing crab varielies thatcan give a big harvest
{4) Reducing the nutrient valus of crops.

{28) Using micro-orgenisms for removing environmental poliutants is known as bio-remediation. An istance
of notusing the bio-remediation s,

{!) removing heavy metals from polluted water.

{2) decomposing the il layer released on Lo the ocean water.
(}) Producing products related to plant fibres.

{4) Producing plastics by becreria.

(29} SOMNAR machine which uses ultra sound waves is esed 1o find the depth of the oceen. [f an ultra sound
wave took 5 seconds to strike on the ocean bed and come back, what is the dapth of the ocean ? (speed of
sound in water is 1490ms’

(1) 1490x5 m (2) 1490%3 m (3) 1490m {4) 1490x2m
2 3 5
{10) Toavoid ahiily area lrom landsiides,
(1) frees with big roots present in slopes should be removed.
(2) hilly areas with high slopes should be used for agriculture.
(3) cunstyunliuns should be done in hilly areas with high slopes.

{4) grass and plants on slopes should be conserved.
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Part 1

% Question no. 1 ls compulsory,
v Aoswer for five questions with queation no.1 and four more questions.

(1)~ Thisdiagram shows an environmental crisis faced by the world inthe present

(A} (I) Idenify the natural disaster shown in the dingram and

" (B)

write ils name,

(ii} Neme a gresnhouse gas that contributes moszly for
this process.

{iii) Write two sctions that cen be followed by you as an

environment friendly person to avoid this condition.

(iv} What is known as green concept?

(v) Whet is the main aim of the green concept?

Sinharaje forest in Sri Lanka is the biggest specific &co system which is considered as a world
heritage. All the interections ihal should be taken place in an eco system take place here and

colributes more ro maintain the waler cycls.

{!) Write a biotic - ahiotic inleraction that can be SEen in a forest.

(ii) Wrile 3 cequirements lulfilled by a bictic-biotic interaction.

{iii) Certain forests show stratification, Whal is meant by stratilication?

(iv) Write 2 problems arise in 2 man-made environment that cannar be seefi in a natural

envirpament,

(v) Why Is it necessary to apply fertilizer to an agriculiural land though it is not necessery to

apply fertilizer o pianis in a forest?
(vi) “Forests conlribule mostly to maintain the water cvcle™. Do you agree with this statemen!?

Explen ir.
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{02} (A) Several examples for micro-organisms are shown below

(i) Separate the above micro-organisms correctly o the groups uiven below

(2) bacleria {b) fungi {c] prolozoans Fuglena

Amoeba
Chlamidomonas  Methanococcus
Penicilium  Ebola

Diatam  Influenza
Rhizobium

{d) alyas (2] virus

Mlucor

{il) Name Lhe micro-organism that coniribmes for fixation of mmospheric nitrogen.
{ilyName the microorganism thal contributes w make biv gas, living an organic matler.
{iv) Mention the kind ol micrg-organism that grow on wet loaves of bread, Vegerables and

ruils.

{B) Nano materials are used in various lields in the presenl and the eleoinent
carban akes » mosl prominent place amoog them.
(i1 What is the name used 1o idemify the nane carbon siructure
shovwn in the diagrant 7
(i) Wha is ihe diameter of the above slructure roughly 7
{iiiY Name another carbon siructure used in nano-technology.
{iv) Name a raw material used 10 produce active carbon,

fv)  Explain the reason for using active carbon lo purify wer,

{03) tA) This diagram shows how 2 it Jong plank is used 10 make Lhe task casy for Liling 2000N weight oil
barrel 10 9 lorry, The deck of the lorry is placed [m above the eanh, A Jorce ol 1000N is applied 1w
push the oil barrel.

Answer the questions beluw uging the given information.

{iY What is the fvpe ol simple machine shown in the diagram,
(il Show lhe values of load and the ¢lTan respectively
(ili} Calculate the mechanical advantage of this machine,

fiv) Calculate the velocity ralio of the machine.
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(04)

{(A)

(B)

(05)

(A)

(c) Figurative representation of a lever is shown below. Q
(i) IFthe fulcrum is p, name Q and R 7 3 T
(i) Which erder of lever is represented by [ ]

this di 7 l
is diagram A :

(iii) Menlion an instance of using this type ol

lever in day today lile.

The materials shown below were placed on the work table 16 learn the changes caused in a solution

by an eleclric current. Use these materials Io answer both paris A and B.

salt selution, dislilled water, copper sulphate solution, ecidulared waler, Kerosene oil,

vollameter, 1.5V drycell, 9V batlery, connecting wires, carbon rods, iron plales, copper plates,

an emmeter
(I} Selec iwo electrolytes among the given solulions above. ~
(i) What should be the voliage of the cell / battery connected to il 7 =
{itl} Whatis the electrotyle that can be used as the solution in .
Solution
this set-up? Carbon rods
]
(iv) Whalis the gas emitied near Ihe positive electrode ¢ T 3
(v) Whal is the gas emitted near ihe negative electrode? 'il

{vi) Menlion how the gas emilted near the positive electrode is identified ?

This diagram shows a sel-up prepared for electroplating copper on an

iron plate.

{1}  Select the materials relcvant for the things below.

{2) positive elecirode =)| fj
ib] negalive elecirode

(c) clecirolyte

Warer Waler soluble things

(i) Wrile 2 instances that electroplating is used in

day to day life. liguid—=»] 552

This concepl map shows a rough skelch of components of blood.

7
percen

Complete the above skeich using the relevant words for the blanks 3 kinds
P! Q! R! X.IY'I z"

(i} What is the main lunction of P?

destray
p.'niu.{gcns
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(B) (i)
(i)

(06) (A)

(1)

(i)

{iit)

Name the blood vessels shown and A, B and € in the diagram,

bention, towards lhe hearl from lhe heart
{a} astrucrural
{t) a lunclional feature of arteries and veins.
c
X capillaries

There is a big difference emong locomolive melhods of various animals in the animal world,

Write the locomotive methods and the appendages used for it by the animals shown in the table

below,
animal method of locomotion locomotive organ
a| frog a
b | erow
€ | cheala e i
4|_dolphin

(2) Name 2 snimals present in the home garden Ihat do not have special appendages for
locomotion.

(b} What are the structures ysed by the above animals who don'l have locomotive ergans for
iheir locomotion ?

Wrile a benefil obtained by vertebrales from the siructures you menlioned in part {it) -b and

bones instead of motion or locomoltion,

{(B) This set - up shown in the diagram is prepared 10 demensirale the performance of a human hand.

t1)

Mention 1o which pans of the human hand, these materials used for making the seL - up

correspondenl. G wooden plank

a) wooden planks

b} elastic A elaslic A

B eiaslic
c) " elastic B

dy bolt nail

bolt nail _ B wouden plank

(i) Which muscle contracts when the hand is bant from the elbow?
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(C) Flant leaves in Sesbania like legume plants shrink in the tight.
(i)  What de you call this plant movement?

{il)  What is the structure Jocated in the leaf base which contribules for 1his movement?

{7} (A} The diagram ol a human ear is shown below,

(It (i) WNameitheparsa,b,c _

{il) Inwhich part are auditory nerve endings located?

(i) Which structure helps to maintain lhe balance of the body.

{iv} What parl helps 1o maintain the balance of pressure gither sides of tympanic membrane?
(B) These diagrams show two phenomena taken place due Io light.

(i)  Idenlify these phenomena and name them.

P AR AT A P T B P
H zm‘l d~
1 diagram lagram

{ii) Name an effect laken place in lhe environmenlt due Lo the phenomena shown in the diagram 2
{iify This diagram shows liow we observe the dispersion of light when white beam of light travels
through a prism.
{2) Menlion the colours of P and ) rays.

(b) What is meant by dispersion,
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